## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F 2011 MANHOLE ADJUSTMENT PROJECT PROJECT NO. SS11-1970 / CIP NO. 50846 NOVEMBER 9, 2012

ORIGINAL CONTRACT AMOUNT: \$56,927.00 CONTRACTOR: HIGHMARK, INC.

LINE ITEM	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	MOBILIZATION	LS	1.00	\$5,650.00	\$5,650.00	1.00	\$5,650.00	\$0.00
2	PAVEMENT	SY	260.00	\$20.00	\$5,200.00	238.50	\$4,770.00	(\$430.00)
3	DIGOUTS W/ BASE COURSE	CY	5.00	\$50.00	\$250.00	0.00	\$0.00	(\$250.00)
4	COVER	EA	34.00	\$75.00	\$2,550.00	30.00	\$2,250.00	(\$300.00)
5	F & I MANHOLE FRAME & COVER	EA	5.00	\$339.50	\$1,697.50	0.00	\$0.00	(\$1,697.50)
6	F & I MANHOLE CHIMNEY SEAL	EA	2.00	\$232.00	\$464.00	0.00	\$0.00	(\$464.00)
7	F & I CHIMNEY SEAL EXTENSION	EA	2.00	\$151.50	\$303.00	0.00	\$0.00	(\$303.00)
8	REINFORCED CONCRETE PAN	SY	18.70	\$100.00	\$1,870.00	19.00	\$1,900.00	\$30.00
9	BASE COURSE	TN	85.00	\$30.00	\$2,550.00	1.50	\$45.00	(\$2,505.00)
10	ASPHALT PAVEMENT	TN	75.00	\$200.00	\$15,000.00	90.92	\$18,184.00	\$3,184.00
11	INCIDENTAL	LS	1.00	\$5,000.00	\$5,000.00	1.00	\$5,000.00	\$0.00
12	INLET PROTECTION	EA	5.00	\$20.00	\$100.00	5.00	\$100.00	\$0.00
						·		
ALT 1-1	MOBILIZATION	LS	1.00	\$2,500.00	\$2,500.00	1.00	\$2,500.00	\$0.00
ALT 1-2	PAVEMENT	SY	35.00	\$20.00	\$700.00	35.00	\$700.00	\$0.00
ALT 1-3	DIGOUTS W/ BASE COURSE	CY	3.00	\$50.00	\$150.00	1.00	\$50.00	(\$100.00)
ALT 1-4	REINFORCE CONCRETE PAN	SY	19.00	\$120.00	\$2,280.00	19.00	\$2,280.00	\$0.00
ALT 1-5	COVER	EA	10.00	\$75.00	\$750.00	9.00	\$675.00	(\$75.00)
ALT 1-6	F & I MANHOLE FRAME & COVER	EA	3.00	\$339.50	\$1,018.50	0.00	\$0.00	(\$1,018.50)
ALT 1-7	F & I MANHOLE CHIMNEY SEAL	EA	4.00	\$232.00	\$928.00	0.00	\$0.00	(\$928.00)
ALT 1-8	F & I CHIMNEY SEAL EXTENSION	EA	4.00	\$151.50	\$606.00	0.00	\$0.00	(\$606.00)
ALT 1-9	BASE COURSE	TN	12.00	\$30.00	\$360.00	12.00	\$360.00	\$0.00
ALT 1-10	ASPHALT PAVEMENT	TN	10.00	\$200.00	\$2,000.00	10.00	\$2,000.00	\$0.00
ALT 1-11	INCIDENTAL	LS	1.00	\$5,000.00	\$5,000.00	1.00	\$5,000.00	\$0.00
TOTAL \$56,927.00 \$51,464.00 (\$5,463.							(\$5,463.00)	

C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE:	\$56,927.00
CCO #1F	(\$5,463.00)	NET INCREASE/(DECREASE):	(\$5,463.00)
	\$0.00	ADJUSTED CONTRACT PRICE:	\$51,464.00
	\$0.00	CHANGE TO DATE:	(\$5,463.00)
Llanu Schweche		11-15-12	
CONTRACTOR: HIGHWARK INC.		III of DA	TE
Han Schwed		1/15/12	
PROJECT MANAGER: KLARE SCHROEDER, P.E.		DA	TE
Wiele Min		11-15-12	
CITY ENGINEER: DALE TECH, P.E. / L.S.		DA	TE
MAYOR: SAM KOOIKER		DA	TE
FINANCE: PAULINE SUMPTION		DA	TE

City Staff recommends approval of this Change Order #1F to Highmark Inc. for a decrease of \$5,463.00 based on unit pricing with the following appropriation:

Days

NEW CONTRACT TIME:

1833 1380 1604					
1380					
			****		
1604					
•	I			1 1	
5,463.00)					(\$5,463.00)
					\$0.00
					\$0.00
51,464.00				\$51,464.00	\$51,464.00
_	1,464.00	1,464.00	1,464.00		1,464.00 \$51,464.00

CONTRACT TIME CHANGE +/-: 0

## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F 2011 MANHOLE ADJUSTMENT PROJECT PROJECT NO. SS11-1970 / CIP NO. 50846 NOVEMBER 9, 2012

ORIGINAL CONTRACT AMOUNT: \$56,927.00 CONTRACTOR: HIGHMARK, INC.

LINE	DESCRIPTION	REASON FOR CHANGE		
	SAW & REMOVE ASPHALT			
2	PAVEMENT	Actual quantitiy needed to complete project.		
3	DIGOUTS W/ BASE COURSE	None were needed to complete project.		
4	COVER	Actual quantitiy needed to complete project.		
5	F & I MANHOLE FRAME & COVER	None were needed to complete project.		
6	F & I MANHOLE CHIMNEY SEAL	None were needed to complete project.		
7	F & I CHIMNEY SEAL EXTENSION	None were needed to complete project.		
8	REINFORCED CONCRETE PAN	Actual quantitiy needed to complete project.		
9	BASE COURSE	Actual quantitiy needed to complete project.		
10	ASPHALT PAVEMENT	There were some areas that needed more asphalt.		
ALT 1-3	DIGOUTS W/ BASE COURSE	Actual quantitiy needed to complete project.		
ALT 1-5	ADJUST MANHOLE FRAME & COVE	Actual quantitiy needed to complete project.		
ALT 1-6	F & I MANHOLE FRAME & COVER	None were needed to complete project.		

PREPARED BY: Klare Schroeder, P.E.

DATE: November 9, 2012

	FUNDING TYPE	Sanitary Sewer	
	COST CENTER	0833	
	LINE ITEM	4380	
	FUND	0604	
ITEM NO.	DESCRIPTION OF ITEM	AMOUNT	PERCENT
1	MOBILIZATION	0.00	100%
2	SAW & REMOVE ASPHALT PAVEM	-430.00	100%
3	DIGOUTS W/ BASE COURSE	-250.00	100%
4	ADJUST MANHOLE FRAME & COV	-300.00	100%
5	F & I MANHOLE FRAME & COVER	-1,697.50	100%
6	F & I MANHOLE CHIMNEY SEAL	-464.00	100%
7	F & I CHIMNEY SEAL EXTENSION	-303.00	100%
8	REINFORCED CONCRETE PAN	30.00	100%
9	BASE COURSE	-2,505.00	100%
10	ASPHALT PAVEMENT	3,184.00	100%
11	INCIDENTAL	0.00	100%
12	INLET PROTECTION	0.00	100%
ALT 1-1	MOBILIZATION	0.00	100%
ALT 1-2	SAW & REMOVE ASPHALT PAVEM	0.00	100%
ALT 1-3	DIGOUTS W/ BASE COURSE	-100.00	100%
ALT 1-4	REMOVE AND REPLACE REINFOR	0.00	100%
ALT 1-5	ADJUST MANHOLE FRAME & COV	-75.00	100%
ALT 1-6	F & I MANHOLE FRAME & COVER	-1,018.50	100%
ALT 1-7	F & I MANHOLE CHIMNEY SEAL	-928.00	100%
ALT 1-8	F & I CHIMNEY SEAL EXTENSION	-606.00	100%
ALT 1-9	BASE COURSE	0.00	100%
ALT 1-10	ASPHALT PAVEMENT	0.00	100%
ALT 1-11	INCIDENTAL	0.00	100%
		(\$5,463.00)	